
LOGICAL REASONING 

Exercise 11 (A): 

Choose the appropriate answer (a) or (b) or (c) or (d) 

5. 

7 

(a) 
(c) 

Five boys A, B, C, D and E are sitting in a rOw. A is to the right of B and E IS to the left of B 

but to the right of C. A is to the left of D, Who is second from the left end? (UP8 Ed 2013) 

(a) 
(c) 

(a) 

There are five different house, A to E, in a row. A is to the nght of B and E Is to the left of C 

and right of A; B is to the right of D. Which of the houses in the middle? (IB CA (1Q) 203) 

(c) 

(a) 
(c) 

(a) 

Five Friends P, Q, R, S and T are sitting in a row facing North. Here S Is between T and Q 

and Q is to the immediate left of R. P is to the immediate ieft of T. What is in the middle? 

(SSC(Multi Task) 2014). 

(c) 

CHAPTER - 11 (A) - SITTING ARRANGEMENTS 

(a) 
(c) 

E 

A 

C 

Six, children A, B, C, D, E and F are standing in a row. B is between F and D. E is between A 

and C. A does not stand next to F or D. C does not stand next to D. F is between which of 

the following pairs of children? (SSC (FCI) 2012) 

(a) 
(c) 

S 

Q 

() 
(u) 

B and E 
B and D 

There are eight books kept one over the other. Two books are on Orqanisation Behaviour, 

two books on TÌM, three books on Industrial Relations and one book is on Economics 

Counting. From the top, the second, fifth and Sixth books are on Industrial Relations. Two 

books on Industrial Relations are between two books on TÌM. One book of Industrial 

Relations is between two books on Organizationai Behaviour while the books above the book 

of Economics is a book of TOM., Which book is the last book from the top ? (MAT 2011) 

Economics 
Industrial Relations 

N ? (UPSC (CSAT) 2011) 

First 

Third 

(b) 
(d) 

(b) 
(d) 

R 

(b) 

(d) 

Five boys are standing in a row facing East. Pavan is left of Tavan, Vipin and Chavan to the 

left of Nakul. Chavan is between Tavan and Vipin. Vipin is fourth from the left, then how far 

is Tavan to the right ? (CLAT 2014) 

P 

(b) 
(d) 

E IS not at the end of any row 

A 

DS second to the left of F 

(b) 
(d) 

R 

(b) 
(d) 

Six persons M, N, O, P, Q and R are sitting in two row with three persons in each row, Both 
the row are in front of each other. Q is not at the end of any row. P is second the left of R. 

O is the neigbbour of Q and diagonally opposite to P. N is the neigbour of R. Who is in front 

ME 

B and C 
B and A 

(b) 
(d) 

TQM 
Organizational Behaviour 

Second 

Fourth 

Six person A, B, C, D, E and F are sitting in two row, three in each row. (MAT 2011) 
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() 

that follows: 

(ii) 
(iii) 
(iv) 

9. 

10. 

Direction (Q.No. 9): Read the following information's carefully and answer that question 

11. 

12. 

() C, the neighbour of E, IS Sitting diagonally opposite of D, 

(iv) B Is the neighbour of F. 

Five boys A,, A), A, A, and A, are sitting in a stair in the following way. (RRB (TC/CC) 20l0 

Which of the following are n one of the two rows ? 

(a) 

(c) 

13. 

14. 

15. 

As is above A, 
A, is under A 
A, is under A 
A is between A, and A. 

(a) 
Who is at the lowest position of the stair ? 

(c) 

(a) 
(c) 

(a) 
(c) 

(a) 

D, B and 

(c) 

A, E and F 

Five children are sitting in a row, S is sitting next to P but not T, K is sitting next to R whe 

0s sitting on the extreme left and Tis not sitting next to K. Who is/are adjacent toS? (NIET 

(UG) 2014) 

(a) 

A, 

(c) 

As 

(a) 

Kand P 

Only P 

(c) 

P, T, V, R, M, D, Kand W are sitting around a cricular table facing the centre. V is second to 

the left of T. T is fourth to the right of M. D and P are not immediate neighbours of T. D is 

third to the right of P. W is not an immediate neighbuor of P. P is to the immediate left of K. 

What is R's position with respect to V? 

Third to the right 

(a) 

Third to the left 

(c) 

E 
C 

(b) 
(d) 

In a gathering seven memnbers are sitting in a row. 'C' is sitting left to 

'D'. 'A' is sitting right to 'B, 'F is sitting right to 'E' but left to 'D'. 'H' is 

the person sitting in the middle (SSC (10+2)2013) 

(b) 
(d) 

left and the person who sit Sixth from the right ? 

B 

A 

(b) 
(d) 

Directions (No.: 13-17) : Study the following information carefully to answer the given 

questions. 

(b) 
(d) 

A to H are seated in straight line facing North. C sits fourth left of G. D sits second to right Of O. 

Only two people sit between D and A. B and F are immediate neigbours of each other. B is not o 

immediate neighbour of A. H is not neighbour of D. (GIC 2012) 

C, D 

C, E and B 

B, G 

F, B 

Who amongst the following sits exactly in the middle of the persons who Sit fifth from the 

A 

A, 

(b) 

R and p 

(b) D 

(d) 

Who amongst the following sits third to the right ofC? 

(b) 
(d) 

Fifth to the right 
Second to the left 

P andT 

F 

(d) 

(d) F 
I 
L 

Which of the following represents persons seated at the two extreme ends of the line ? 

F 

E 

'B' but on the right to 

sitting left to 'E. Find 

(b) A, B 
D, H 
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18 

19 

21 

What is the position of H with respect to F2 

22. 

(a) 

(c) 

Directions (Q.No. 18-22) 

(c) 

23. 

24. 

uow many persons are seated between A and E? 
One (a) 

(a) 

Study the following information carefully to answer the given questions: 

(c) 

Who is second to the right of T ? 

SK. R, T and W are sitting around a circle fac1ng the centre. D is second to the rght of P third to the right of K. T is third to the right of W, who is not an immediate neighbour ofD. Ns third to the left of R 

(a) 
(c) 

(a) 
(c) 

Third to the left 

(a) 

Second to right 

(c) 

Three 

Who is on the immediate left of R? 

(a) 
(c) 

Who is on the immediate left ofM? 

D 
M 

In which of the following pairs is the second person sitting to the immediate right of the first Derson ? 

(a) 
(c) 

DT 
PR 

Who is thírd to the left of D ? 

(a) 
(c) 

K 

K 

D 

W 
K 

On which day was play B organised ? 

(b) 
(d) 

Un which day was no play organised ? 

(b) 

Thursday 
Wednesday 

(d) 

Monday 
Thursday 

(b) 
(d) 

questions that foliow. 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

Immediate right 
Fourth to left 

Two 
Four 

Directions (Q. Nos. 23-24) Read the following information carefully and then answer the questions that follow. 

(b) 

e playS A, B, C, D and E were organised in a week from Monday to Saturday with one play each 

(d) 

no play was organised on one of these days. Play D was organised before Thursday but 
Keonaay. Play E was organised on Saturday. Play C was not organised on the first day. Play B 

organised on the next day on which play C was organise. Play A was organised on Tuesday. 

(b) 

K 

(d) 

None of these 

TP 

KW 

P 

T 

W 

T 

P 

None of these 

MC 

Friday 
None of these 

Wednesday 
Friday 

Directions (Q. Nos. 25-27) Read the following information carefully and then answer the 
Einght persons T, R, M, O, U, P, V and W are sitting in front of one another in two rows. Each row 
has four persons. P is between U and V and facing North. Q, who is to the immediate left of M is 
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facing W. Ris between T and M, W is to the immediate right of V. 
25. Who is sitting in front of R ? 

26. 

27. 

28. 

29. 

30. 

31. 

32. 

33. 

(i) 

(a) 

(iü) 

(c) 

(i) 

Who is to the immediate right of R? 

(iv) 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

(a) 

In which of the following pairs, persons are sitting in front of each other? 

(c) 

(a) 
(c) 

(a) 
(c) 

M 

(a) 

V 

(c) 

MV 
TV 

Four girls A, B, C, D are sitting around a circle facing the centre. B and C infront of e 

other, which of the following is definitely true ? (MAT 2009) 

(a) 
(c) 

D is left of C 

B 

Impossible to tell 

A and D in front of each other 

Four children are sitting in a row. A is occupying seat next to B but not next to C. If C is not 

sitting next to D, who is occupying seat next to adjacent to D? 

P 

R 

B 

A, B 
C, E 

(b) 

D 

(d) 

(b) 

facing each other. 

(d) 

There are Five houses P, Q, R, S, T. P is right of Q andT is left of R and right of P. Q is right 
of S. Which house in the middle. 

(b) 
(d) 

(b) 
(d) 

F is between D and A and facing G. 

(b) 
(d) 

Friends are sitting on a bench. A is to the left of B but on the right of C, D is to the right of 
B but one the left of E. Who are at the extremes ? 

H is to the right of B. 

(b) 

(b) 
(d) 

In a college party, 5 girls are sitting in a row. P is to the left of M and to the right of 0. Ris 
sitting to the right of N but to the left of 0. Who is sitting in the middle? 

(b) 
(d) 

P 

(d) T 

None of these 

RV 

(b) 

UR 

(d) 

A is not between B and C 
A is left of C 

Five boys A, B, C, D and E are standing in a row. D is on the right of E, B is on the left of t 
but on the right of A. D is one the left of C, who i standing on the extreme right. wno 
standing in the middle ? 

C, who is sitting between G and E, is facing D. 

A 

No two ladies or gentlemen are sitting side by side. 

R 

(Q. Nos. 34 to 36) Study the following Question carefully and answer the g qúestions. 

A, D 
B, D 

E 

Four ladies A, B, C and D and Four Gentlemen E, F, G and H are sitting in a circle around a table 

MCA 

B andA 

M 

C 
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34. 

35. 

36. 

37. 

() 
(0) 
(i) 

() 
(i) 

38. 

who is Sitting left of A 

(a) 

39. 

(c) 

40. 

41. 

E is facing whom 2 

(c) 

(a) 
(c) 

Who is immediate neighbour of B2 

(a) 
(c) 

E 

F 

Which of the following must be true ? 

G 

G and H 

C is seated next to A. 

(c) 

E and H 

A is seated twO seats from D. 
B is not seated next to A. 

One 

Three 

(0.38) Five People A, B, C, D and E are seated about a round table. Every chair is spaced 
equidistant from adjacent chairs. (UPSC (CSAT) 2013) 

D is seated next to B. 

(a) 

E is seated next to A. 

(c) 

A. B, C, X, Y, Z are seated in a straight line facing North. C is third to the right of Z and B 
sits second to the right of C. X sits to the immediate right of A. How many persons are 
seated between A andC? 

(a) 
(c) 

(c) 

Select the correct from the options given below: 

(a) Only (i) 
Both (i) and (ii) 

(b) 
(d) 

H 

(b) 
(d) 

DC 

(b) 
(d) 

EF 

(a) E 
A 

Question 39 to 43 : Study the following Question carefully and answer the given 

questions. 

(b) 

Eight friends A, B, C. D, E, F, G and H are sitting in a circle facing centre, not necessarily in the 

Same order, D sits third to the left of A. E sits to the immediate right of A. B is third to left of D. G 

1s second to the right of B. C is neigbour of B. C is third to left of H. (GIC 2012) 

(d) 

(b) 
(d) Four 

Who amongst the following is sitting exactly between F and D? 

H 

B 
H 

(b) 
(d) 

É and F 

F and H 

(b) 
(d) 

Two 

Three of the following four are alike in a certain way based on the information given above 

and so form a group. Which is does not 

(b) 
(d) 

Only (ii) 
Neither () nor (ii) 

belong to that group. 

E 

Who amongst the following second to the left of H ? 

ME 

AH 

ITAL (OMMERCE CASSES 

DF 

B 
None of these 
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$ 

5 

46, 

47. 

48. 

49. 

50. 

Whe amongst the folowing are mmed1ate neighbours of G? 

Five boys A,B.C.D andE are sitting in 

but to the right of C. A is to the left of 

(a) 
() 

Who anongst he following is sitting third to the right of A ? 

(a) 

(c) 

(c) 

(a) 

D 

(c) 

Mr. Marnu 

Five senior cituzens are living in a multi-storeyed building. Mr. Manu lives in a flat above M. 

Ashokan, Mr. Lokesh in a flat below Mr. Gaurav, Mr. Ashokan lives in a flat below Mr 

Gaurav and Mr, Rakesh lives in a flat below Mr. Lokesh. Who lives in the topmost flat? 

(a) Mr. Lokesh 
() 

B and D 

(a) 
(c) 

K+P 

Only P 

(a) 
() 

G and E 

and C. However. 

H andE 

between 

(b) 

Six children A, B, C, D, E andF are standing in a row. B is between F and D. E is between A 
and C. A does not stand next to F or D. C does not stand next to D. F is between which of 

the following pairs of children? 
(a) B and E 

(d) 

(b) 
(d) 

B and C 
B and D 

(b) 
(d) 

a row. A is to the right of B and E is to the left os 

D. Who is second from the left end? 

(b) 

Five children are sitting in a row. S is sitting next to P but not T. K 0s sitting next to R, who 
is sitting on the extreme left and T is not sitting next to K. Who is/are adjacent to S. 
(a) 

B 

(d) 

(b) 
(d) 

(b) 
(d) 

AF 

(b) 
(d) 

DF 

Eight persons A, B, C, D, E, F, G and H are sitting in a line.E sits second right to D. H sits 
fourth left to D.C and F are immediate neighbours, but C is not immediate neighbour Of A. 
G is not neighbour of E. Only twO persons sit between A and E. The persons on left end and 
right end respectively are 

A does not sit next to F or 

(b) 

A 

(d) 

B 

Mr. Gaurav 

(b) 

Mr. Rakesh 

(d) 

B and C 

Six children A, B, C, D, E andF are sitting in a row.B is between F and D. E is between A 

B and A 

R+P 

P and T 

B and E 
G and B 

May 2018 

of E but on the right of A. D is next to C on his left. The student in middle is 

May 2018 

E and C 

None of the above 

May 2018 

May 2018 

D. Cdoes not sit next to D. Then, FIS 

Five students A, B, C, D and E are standing in a roW. D is on the right of E, B is c On the left 

A 

Nov, 2018 

Nov. 2018 

Nov. 2018 
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52. 

53. 

54. 

55. 

56. 

57. 

58. 

(a) 
(c) 

EOur girls are seated for a photograph. Shikha is to the left of Reena. Manju is to the right of Doena. Reeta is between Reena and Manju. Who is the second left in photograph? Reena 

(a) 
(c) 

(c) 

In a straight line, there are SIX perSons sitting in a row. Bis between F and D. E IS between A and C. A does not stand next to F or D, C does not stand next to D. F is between which of the foliowing persons? 

(a) 
(c) 

(a) 

Reeta 

Five boys A, B, C, D and E are sitting in 
but to the right of C. A is to the left of D. 

(c) 

B and E 
B and D 

(a) 
(c) 

Five children are sitting in a row. S is sitting next to P but not T. K is sitting next to R. K is sitting on extrement end. T is not sitting next to K. Who are sitting adjacent to S? (a) K&P 

Only P 

(c) 

D 

F 

Parikh 

Narender 

(b) 
(d) 

A 

(b) 
(d) 

4th 

(a) J is third to the left ofK 

(b) 
(d) 

H is to the right of K 

(b) 
(d) 

(b) 
(d) 

Manju 
Shikha 

Six person are sitting in a circle facing the center. Parikh is between Bablu and Narender; 
Ashok is between Chitra and Pankaj. Chitra is on the immediate left of Bablu. Who is on the 
immediate right of Bablu? 

(b) 
(d) 

B and C 

(b) 
(d) 

a row. A is to the right of B andE is to the left of B 
Who is second from the left end? 

R&P 

(b) 

P&T 

(d) 

B and A 

A 

B 

C is between A and B, E is at the extreme right and D is on the left of E. Who is in the 
middle? 

(a) 
(c) 

Pankaj 
Chitra 

B 

ME 

E 

MITTAL coMMERCÍ CLAS55ES 

5 person are standing in a line. One of the 2 persons at the exterme ends is a professor and 

the other is a businessman. An advocate is standing to the right of a student. An author is 
to the left of the business man. The student is standing between the professor and 
advocate, Counting from left, the author is at which place? 

June 2019 

3rd 

none 

June 2019 

G is second of the left of I 

June 2019 

H is to the left of G 

June 2019 

Five girls G, H, I, ), K are sitting in a row facing South not necessarily in the same order H is 
sitting between G and K, I is immediate right to K, J is immediate left to G. Which of the 
following is true? 

Nov. 2019 

Nov. 2019 

Nov. 2019 

Nov. 2020 
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59. 

60. 

61. 

62. 

63. 

64. 

65. 

EIaht friends I, J, K, L, M, N, O and P are sitting in a Circle facing the centre. J IS Sittie 

between ) and L: Pis third to the left of J and second to the right of I; K is sitting betwee 

and O; J& M are not sitting opposite to each other which of the following statements Is 

correct? 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

A, B, C and D are playing cards. A and B are partners. D faces towards North. If A facec 

West, then who faces south? 

(a) 
(c) 

(a) 
(c) 

K is sitting third to the right of L 

L and I are sitting opposite to each other 

(a) 
(c) 

C 

A is seated between D and F at a round table. C is seated opposite to D. E iS round adjust to 

D. Who sit opposite to B? 

D 

(a) 
(c) 

A 

E 
G 

Four Indian, A, B, C and D and four Chinese E. F, G and H are sitting in a Circle around a 

table facing the each other in a conference. No. two Indians or Chinese are sitting side by 
side, C who is sitting between G and E is being D, F is between D and A and facing G, Hs 
to the left of B. Who is sitting left of A? 

(b) 
(d) 

Second from right 
Extreme left 

(b) 
(d) 

Seema 
Bindu 

(b) 
(d) 

Cand D 
B and C 

(b) 

(b) 
(d) 

(d) 

Five friends A, B, C, D and E are sitting on a bench. A is sitting next to B; C is sitting next to 
D, D is not sitting with E; E is at the left end of bench. C is on second position from the 
right; A is on the right side of B who is the right side of E. A and C are sitting together 
What is the position of B? 

(b) 
(d) 

B 

(b) 

Data is inadequate 

(d) 

D 

F 

F 

I is sitting between K and N 
M is Sitting between N and L 

Nov. 2020 

H 

Five girls are sitting on a bench to be photographed. Seema is to the left of Rani and to the 
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is sitting 
immediate right to Reeta? 

Centre 
Second from left 

Rani 

Jan. 2021 

Mary 

Jan. 2021 

A, B, C, D and E are sitting on the bench. A is sitting next to B, C is sitting to D, D IS no sitting with B who is on the left end of the bench. Cis on the second position fromn the rig A is to the right of B and E. A and C are sitting together in which position A is Sitt9 between? 

D andE 

Jan. 2021 

B and D 

Jan. 2021 

July 2021 

July 2021 
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67. 

68. 

69. 

70. 

71. 

72. 

A, B, C, D, E, F and G are sitting in a row facing north: 1 

2. 
3 
4 

(a) 
(c) 

person who is third to the left of D is at one of ends. Who are to the right of D? 

(a) 
(c) 

(a) 
(c) 

(c) 

F 0s to the immediate right ofE. E 0s 4" to the right of G. 

Gix friends P, Q, R, S, T and U are sitting around the hexagonal table each at one corner and are facing the centre of the hexagonal. P is second to the left of U. W Is neighbor of R and S. T is second to the left of S. Which one is sitting opposite to S? 

C is the neighbor of B and D. 

(a) 

E and F only 

(c) 

C, B and E 

(a) B 

Six children, named as P, Q, R, S, T and U, are sitting in a row, Q is between U between P and R, P does not sit next to either is U or S, R does not sit next to sitting between the pairs 
Q and T 

(a) 

R 

(c) 

Q 

(a) 

Q and S 

IV. H is to the right ofB 

(c) 

Who is immediate neighbour of B? 

E 

(b) 
(d) 

G and H 
E and G 

(b) 
(d) 

Five persons A, B, C, D and E are sitting in a row. A site left to C and C site left to B. E sits 
rights to B. D site in betweenE and B. Who is sitting in the middle? 

one 

three 

of children 

(b) 

No two ladies or gentlemen are sitting side by side. 
II. C, who is sitting between G and E, facing D. 
III. F is between D and A and facing G. 

34 

(d) 

32 

(b) 
(d) 

G, B and C 
only 

Four ladies A, B,C and D and four Gentlemen E, F, G and H are sitting in a circle around a 
table facing each other. 

G and 

(b) 
(d) 

P 

C 

(b) 

Q and R 

D 

(d) 

Q and P 

E and F 

Persons M, N, 0, P, O, R,S and T are sitting on a compound wall facing North O sites fourth 

Teft of S; P site second to the right of S; only two people sit between P and M; N and R are 

immediate neighbours of each other. N is not an immediate neighbour of M, T is not a 
neighbour of P. How many persons are seated between M and Q? 

A and B 

(b) two 

(d) four 

MC 
MITAL cOMARCE CLA$5E 

July 2021 

31 

July 2021 

In a line, P is sitting 13th from left. Q is sitting 24th from the right and 3rd left from P. How 

many people are sitting in the line? 

33 

and S, T IS 
S, So, U is 

Dec. 2021 

Dec. 2021 

Dec. 2021 

Dec. 2021 
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Seating Arrangements ANSWER SHEET 11 (A): 
1. 

(C) 
11. 

(A) 

21. 

(C) 

31. 

(C) 
41. 

(D) 

51. 

(A) 
61. 

(A) 
71. 

(A) 

2. 

(A) 

12. 

(B) 

22. 

(D) 

32. 

(A) 

42. 

(C) 
52. 

(B) 
62. 

(A) 

72. 

(D) 

3. 

(A) 

13. 

(D) 

23. 

(B) 
33. 

(D) 

43. 

(D) 

53. 

(D) 
63. 

(D) 

4. 

(B) 

14. 

(C) 

24. 

(A) 

34. 

(B) 

44. 

(C) 

54. 

(C) 

64. 

ANSWER SHEETS 

(D) 

5. 

(A) 

15. 

(D) 

25. 

(D) 

35. 

(D) 
45. 

(C) 
55. 

(A) 
65. 

(C) 

6. 

(D) 

16. 

(A) 

26. 

(D) 

36. 

(A) 

46. 

(B) 

56. 

(B) 

66. 

(C) 

7 

(B) 

17. 

(A) 
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